FEHE BELE0X) (41) HRE

Q) 2 + 5 = 8 + 5
@ 5 + 6 = @ 3 + 5
® 3 + 3 = 7 + 7
@ 8 + 7 = 7 + 9
® 3 + 5 = @ 5 + 4
® 7 + 2 = @ 1 + 4
@ 9 + 6 = @ 2 + 3
) + 7 = B 2 + 2
©) 5 + 8 = @ 6 + 6
3 + 6 = ® 2 + 7
@ 6 + 5 = ® 6 + 2
®@ 4 + 5 = @ 8 + 1
® 6 + 2 = 2 + )
4 + 1 = ) 8 + 2
® 9 + 1 = 2 + 6
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FEHE BELEGX) (42) HRE

@ 9 + 1 = 8 + 3
@ 1 + 1 = @™ 4 + 9
® 8 + 1 = 7 + 4
@ 1 + 8 = 1 + 8
® 2 + 5 = @ 3 + 1
® 2 + 8 = @ 6 + 4
@ 1 + 1 = @ 1 + 2
) + 1 = B 6 + 1
©) 3 + 9 = @ 3 + 9
2 + 1 = ® 4 + 4
@ 5 + 9 = ® 6 + 8
®@ 1 + 9 = @ 6 + Ji
® 4 + 1 = 6 + 6
2 + 2 = ) 9 + 7
® 7 + 2 = 1 + 3
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FTEHE BELE(X) (43) HRE

@ 9 + 8 = 1 + 8
@ 2 + 3 = @ 1 + 2
©) 9 + 2 = 2 + 6
@ 5 + 1 = 6 + 2
® 7 + 7 = @ 8 + 3
® 7 + 3 = @ 1 + Ji
@ 1 + 6 = @ 8 + Ji
4 + 2 = @ 8 + 6
©) 1 + 9 = ® 4 + 6
6 + 3 = @ 9 + 4
@ 7 + 1 = ® 1 + 1
@ o + 8 = @ 1 + 4
® 2 + 5 = 9 + 4
3 + Ji = ) 3 + 3
® 8 + 1 = 5 + 4
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FEHE BELE0X) (44) HRE

Q) 5 + 3 = 6 + 7
@ 9 + 6 = @ 1 + 3
® 1 + 6 = 7 + 4
@ 8 + 8 = 8 + 1
® 5 + 9 = @ 7 + 4
® 7 + 6 = @ ) + 9
@ ) + 6 = @ 3 + 9
7 + 8 = B 6 + 9
©) 7 + 7 = @ ) + Ji
7 + 5 = ® 7 + 9
@ 7 + 2 = @ 6 + 3
@ 8 + 9 = @ 1 + 4
® 4 + 1 = 9 + 2
9 + Ji = ) 1 + 3
® 1 + 8 = 8 + 8
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FTEHE BELE(IX) (45) MR

@ 2 + 4 = 8 + 5
@ 1 + 7 = @ 5 + 6
® 4 + 3 = 3 - 8
@ 3 + 6 = 9 + 9
® 4 + 2 = @ 1 + 9
® 3 + 1 = @ 4 + 3
@ 4 + 3 = @ 8 + 8
) + 8 = B 6 + 2
© 4 + 1 = @ + 9
3 + 4 = ® 8 + 2
@ 6 + 5 = ® 6 + 5
@ 9 + 1 = @ 4 + 1
® 6 + 4 = 3 + )
2 + 6 = ® 4 + 8
® 6 + 2 = 2 + )
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TEHE BELE(X) (46) [HRE

@ 2 - 8 = 8 - 7
@ 6 + 8 = @ 6 - 2
® 2 + 6 = 1 - 7
@ 9 + 7 = 7 - 7
® 7 + 7 = @ 6 + 5
® 3 + 9 = @ 4 + 9
@ 8 + 4 = @ 4 + 6
2 + 1 = @ 5 + 4
@ 3 - 7 = @ 5 + 9
1 + 1 = ® 6 - 4
@) 4 + 1 = ® 7 + 6
@ 6 + 2 = @ 9 + 7
® 8 + 1 = 1 + 1
9 + 6 = ® 4 + 1
® 4 + 1 = 4 + 4
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FEHE BELEGX) (47) MRE

O) 7 + 7 = 8 + 5
@ 4 + 4 = @ 5 + 1
©) 9 + 7 = 8 + 6
@ 4 + 1 = 9 + 4
® 2 + 6 = @ 6 + )
® ) + 7 = @ ) + 2
@ 9 + 4 = @ 9 + 2
1 + 7 = B 1 + 3
® 6 + 4 = @ 1 + 3
3 + 8 = @ ) + 2
@ 9 + 2 = ® 8 + 3
@ 6 + 1 = @ 7 + 8
® ) + 5 = 6 + 3
6 + 8 = ) 9 + 7
® 2 + 4 = 7 + 6
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TEHE BLE(IX) (48) [HRE

D 4 + 9 = 6 + 1
@ 1 + 6 = @ 7 + 9
® 1 + g8 = 5 + 6
@ 8 - 3 = 3 + 4
® ) + 1 = @ 8 + Ji
® 1 + 9 = @ 3 + 1
@ 2 + 9 = @ 9 + 1
) + 6 = @ 9 + 2
©) 5 + 9 = @ 3 + )
4 + 7 = ® 8 + 3
@ 2 + 7 = @ 9] + 7
®@ 3 + Ji = @ 1 + Ji
® 3 + 5 = 7 + 8
8 + 1 = @ 6 + 1
® 8 + 4 = 7 + )
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